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7.
8.

9.

10.

a(b+c)?+b(c+a)+c(a+hb)- dabe
=(b+c)(c+a)la+hb),

(a+ b+ c)bctca+ab)-abe
=(b+tc)(c+a)(a+b).

P=-DGP-D -1+ (x +yz) (Y +2zx)
X(z +xy) =(xyz+ D (x*+y*+22+2xyz~1),

d4((ac’—ca’)?~ (ab’~ba’) (be’ = ch”)
=(2(ac’ +ca’) — bb’J2— (b%®- 4ac) (b2~ 4a’c) ,
(a+b+c)lax?+by2+cz?) ~ (ax+ by +cz)?
=be(Y -~z )*+ca(z — x)*+ab(x - y)2,
(bc+ca+ab)?+ (a2—be)2+ (b2—ac)?+ (c-ab)?
= (a2+b2+02)2.

(a? +b?) (x®*+y*) — (ax+ by)?=(ay - bx)?,

(a2 +bP+c?) (x?+y2+22) - (ax+ by +cz)?
= (bz-cy)*+ (cx—az)*+ (ay - bx)?,
(ax+by+ez+dt)2+ (bx—ay+dz—-ct)?+ (cx
—dy~-az+bt)i+ (dx+cy—-bz—at)?= (a%+ b?
+ct+dh) (xP+y2 2 +tY),

(x +¥)3+3xy(l-x-7)-1=(x+¥Y-1)

11



X (x+yi-xy+x+¥ +1).

11. 2(2x - a)¥-27a’x=(x -2a)4x + a)?,

12, (x =) (x +¥)=x(x=-2Y)%+¥y(2x - 7)%,

Bo (b +c)®+(c+a)+(a+b)=3(h+c)
x(¢c+a)(a+b)=2a%+b*+c3=3abe).

14. (b~ c)®+(c=a)’+(a-1)*=3(h=-c)
x(c—-aj)ta—-h)=9,

15. (az——bc)3+(bz—ac)3+(cz—ab)3—-3(a2-—bc)

X (b%—ac) (¢*—ab) = (a®+ b®+ ¢¥— 3abc)?,

16, (b +c)®+(c+a)d+(a+b)d+(a+d)°
+(b+d)*+(c+d)*=3(a+b+c+d)
X (af+ b2+t d?),

7. (b+c—-a)'+(c+a-bh)%+(a+bh-c)
=3(b+c-a)(c+a-pb)(a+h-c)
=4(a®+bd+ ¢ 3abe).

18. (321—b—c)3+(3b—c—a)i‘+(3c-a—b)s
—3(3a—b~0)(3b—c—a>(3c—a—b)
=16(a*+ 13+ c®~ 3abc).

19. (na=b—-c)®+(ab=c = a)*s (ne= a — b)s
—3(ma=b-c)(nb-c-a)me—a-yp)
=(n+1)*(n-2)(a®+b*+ ¢~ 3abe),

20°. a:"(b-l-c—a)2+b“(c+a1—-b)2
+C3(a+b—C)z+abc(a2+bz+c2)+(a2+b’+cz
—bc—ca—ab)(b+0—a)(C+&—b)(a+b
— ¢ ) =2abc(bc+ca+ab),

21, a'(b® = c?) +b*(c®- a?) +c'(a- b2)
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=Cal(b - c)+bi(e —a)+ci(a—- b))
X(a+b)(b+c)(c+a).

22" (X + Y +z)3=(=x+Y +2)34(x~-Y+1z)?
+(x +Y—2z)%+24xyz.

23, xyz(x + Y + 2 )%= (yz+zx +xy)®
=(x*-yz) (y*- zx) (z*- xy).

24% A(xX+ Y +2)°*=15(x (Y - 2z):+ ¥ (z~x)?
+z(X~¥Y))-xQ2x-Y-2)-¥V QY -z
-x)~z2(Q2z~x—-Yy)*=108xyz.

25%, 4(x*+ax+a®)®-27a’x*(x + a)i=(x - a)?
X(2x + a)*(x +2a)?,

26%, 4lab(x*-y*) + (a®*— b)) xy)2+ [(a®- b?) (x*-y?)
-4abxy]2= (az+b2)2(xz+yz)z

27, COxP+y") % +a’x*) - da(x2 +y%)3
=[(xz+y2+ay)z_az(x2+yz>]E(Xz+yz_ay)z
~a'(x*+yH)1,

28°. (a+b+c)—(b+ed)=(c+a)t—(a+hp)t
+a*+b*+c*=12abc(a + b +c).

29, (b +c)*(c +a)*(a + b)?+ 2ah??

—a'(b +c)?-bi(c +a)i~ci(a + h)?2
=2(bc+ca+ab)s,

300 (x +y)*+x*+yt=2(xt+xy+y?)2,

31 (x +7)°~x"—y®=5xy(x + V) (x2+ xy + y?).

320 (x +Y ) =x"—y " =Txy(x + ¥ )(x*+ xy + y%)*.

33*. (X + ¥V +2)°~(Y+z—-x)~(z +x=y)5
—(X + ¥ ~2z)"=80xyz(x*+y%+2?),



34%. 250(b=c)"+(c—-a)’+(a—-b)I(bh-c)*
+(c—a)+(a-b)N=210(b~c)®
+(c —a)’+(a-b)oa%

35" (a+b+c+d)’~(b+c+d)P-(c+d
+a)—(d+a+b)—(a+h+c)t
+(b+c)’+(c+a)+(a+b)+(a+d)"
+{b+ d)f+(c+ d)°~a®—bP-c®-d"®
=60abecd(a + b +c+d).

36 (b=c¢c)®+(c —a)®+(a—-1H)*—9g(b—c)?
x(c—-a)*(a-bl)=2(a—-b)3a—c)s
+2(b ~c¢)®(b—-a)®+2(c—a)’(c—-1b)s.

37 (V= z)*+(z —x)*+(x = ¥)*
=200y - 2)¥z — x)?+ (z — x)¥(x -y )?
(X = V)HY - z) ) =2(x2+ ¥ 4+ 2%~ yz - zx
-xy)2,

38. a*(b*~c?) + bi(c2- a?) + ci(a2~b?)
=[a2(b—c)+b2(c—a)+c2(a—b)3
X(a+b)(b+tc)(c+a)==(b-c)(c—-a)
X(a=b)(b+c)(c+a)(a+b).

39%. (b%*(a +d)+a%d®(c + b)I(h=c)(a~ d)
+0c*a?(b + d) +b%d*(c + a)J(ec - a)

X (b= d)+a*h*(c + d)+c2d2(a + b))
x(a=b)(ec=-d)=09,

40, a;+ (1—-aDa,+ (I-ap)d-adag+ -+ (1-a,)
X(1=a)(I-aypDa,=1—~ (1=a;)(1—a,)-
(1-a,).
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41, (x + ¥V + z)(x2+y 4+ 28—~ yz—zx— xY).

42. (x*+x + 1)(x®-x + 1)(x*= 1),

43. (a+ b+ c + d)(a¥+b¥+ct+d?~ab-ac—ad
—bec—bd-cd).

LM THEX:

44, a(b+c—2a)+b(c+a—h)?
+c(a+b—c)+(b+c-a)(c+a-1h)
X(a+b-e),

45. (2a*—3ab-—b%)?—4(a?-b%) (a?+3ab+2b?),

46, (a2+b%+c?+be+ca+ab)?-(a+ b+ ¢)?

X (a?+b%+c?),

47. (abc+bed + cda +dab)?—~ (be-ad) (ca—-bd)

X (ab—-cd),

§2. ZUINH A HRHEESE R

KiE.

1. H#s=a+b+c, M
(as+be)(bs+ca)(es+ab) =(b +c)2(c + a)?
x(a+b)2,

2. Ha+b+c=0, WO
Da(a+b)(a+c)=b(b+a)(hb+c)

=c(c+b)(c +a)=abe,
2a*+b+c*+3(a+ b)(b+c)(c+a)=9,

3. %#a+b+c=0, M
a?(b+ c)®+b%(c + a)?+ci(a + b)?



+ (a?+ b2+ c?)(ab+betca)=0.
4*, Fa+b+c=0, I
1ya®+ b3+ c? =3abe;
2)at+bt+ct=2(a?b?+ b2+ c?a?) =2(¢ab+be

X a?+ b2 c? \?
+ca) =2(——-“
2 .
3)21"~!-b‘5+c5 _at+bP+ et atib?ic?
5 3 2 *
4)a7+b7+c7 _ab+ b+ c® a4 b2
7 5 2
a®+b3+c®  at+ bttt
3 4
5)a7+b"+c7 2%+ b 4 o3 _(a5+b5+c5)2
7 3 5 *

5, HxP+yl+lt=xt+yl+t=x+y+z=1,
Mxyz=10.
6. #Fx =b2+be+ iy =bic+be?, W
4x*~27y*= (b — ¢ )2(2b*+ 5bc + 2¢c2) 2,
7. #F2s=a+b+c, N
Da(s~bl)(s—-c)+b(s—-a)(s—c)
+c(s—a)(s—b)+2(s—a)(s—1b)
X (s — c¢c)=abc,
2)(s - a)’+ (s =Db)®+ (s~ c)3+3abc=s?,
8. Fa+b+c+d=A, a+bh~-c—-d=8,
a-b+c-d=C, a-b-c+d=D,
Hab(a®+b?) =cd(c*+d?),



